Ne ApTUKYn HanmeHoBaHue Kon
1 [(V10X660 PemeHb V10x660 1
2 |[KCM22B-02A TpaHcmmccua 1
3 bont M8x20 4
4 |KCW-03 WrndT 6x40 2
5 Koneco 14" 2
6 |KCM22B-01-08 |[BTysKa 2
7 Maika 1
8 |KCM22B-03 Malika 1
9 |KCM24D-3-3A  [Tara 1
10 Marika 4
11 Bont M8x45 4
12 Lanba 4
13 [KC30-20 3axkmm 4
14 WnanHT 1
15 [KCD24-11 OrpaHuuunTenb pemHs 1
16 Bont M8x25 2
17 |[KCD24-09H Ldednektop B cbope 1
18 [KCWO004 Malika 2
19 [KCM22B-06 KoXyx pemHsA 1
20 |KCM24-2022 Jeka 1
21 |KCM22B-02-19 |[py»KunHa 1
Moaenb
CHeroy6opLuk ST6563

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 1




Ne ApTUKYn HanmeHoBaHue Kon
1 |KCD21-03-02 Pyyka neBas 1
2 Maika 6
3 LWanba 2
4 LWanba 2
5 bont M8x40 4
6 Malika 2
7 |KC21-03C-08 KpoHwTenH 2
8 |KC21-03C-2 BuHT 2
9 |KC20-03C-05 PykoATka 2
10 |[KC21-03C-06B Pblyar 1
11 WnanHT 2
12 [KCM22B-02-09A [Tpocuk xoaa 1
13 [KCM24D-3-1 Tpocuk aednektopa 1
14 |KCD26-06-2 Mpy*KnHa 2
15 |KC55-29 WnanHT 2
16 [KCM24D-3-2 Pbluar pedpnektopa 1
17 BuHT 2
18 [KCM24D-3-5-3 |BTysKa 2
19 |[KC21-01-03 WrnoT 2
20 |[KCM24D-3-3A  [Tara 1
21 |[KCM24D-3-4 Pbiyar xopna 1
22 [KC30-03(M1)-2 |PykoAaTKa 2
23 |KC21-03C-04B Pblvar 1
24 |KCM22B-05A TPOCKK BKIOYEHUA WHEKOB 1
25 |KCM24D-3-5A  |MNaHenb 1
26 |[KCD21-03-04 Pyuka npaBas 1
27 |KCM24D-3-7 BTynka 1
Moaenb
CHeroy6opLuk ST6563

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 2




S ) e
sy, T 1 1@‘?\%

Ne ApTUKYn HanmeHoBaHue Kon
1 |KCM22A-0 PyyKa HMXHAA 1
2 Bont M8x45 2
3 bont M8x20 2
4 |KCM22B-02-01A |Kopnyc 1
5 |KCM22B-02-02 |Pblvar 1
6 |[KCM22B-02-03 |[BTtysKa 2
7 WnavHT 3
8 WrndT 1
9 |KCM22B-02-04 |(Ban 1
10 |KCM22B-02-05 |LLlectepHs 1
11 |KCM22B-02-06 |Btynka 2
12 [KC21-02-09 Lanba 2
13 Konbuo ctonopHoe 2
14 BuHT 3
15 |KCW-04 3axkum 2
16 |KCM22B-02-07A |KpblwKa Kopnyca 1
17 MoawmnnHmk 6200N 2
18 [KC21-02-25 LecTepHa 1
19 Bont M6x16 3
20 [KC21-02-11A LMCK GPUKLMOHHbIN 1
21 |[KC21-02-12B [ep»atenb gUCKa 1
22 |KC21-02-13 MNoawunnHUK B Kopnyce 1
23 Konbuo ctonopHoe 1
24 |KCM22B-02-08 (Ban 1
25 |KCM22B-02-09A [Tpoc xoaa 1
26 bont M5x15 2
27 Maika 2
28 |KC22B-07 MpyXKnHa 1
29 |[KCM22B-02-11 |KpOHLWTEMH WKMBA 1

1

1

30 LWalba
31 LWaiba
Moaenb
CHeroy6opLuk ST6563

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




S ) e
sy, T 1 1@‘?\%

Ne ApTUKYn HanmeHoBaHue Kon
32 Malika

33 Malika

34 |[KCM22B-02-12  [BuHT

35 |KCM22B-02-20 |LWaliba

36 |90-0459 MogwnnHuk 6204-2LS
37 bont M6x12

38 |[KCM22B-02-13 |KpblWwKa WKMBa

39 [KCM22B-02-14 |[Ban wKuea

40 |[KCM22B-02-15 |LWKus

41 |[KCM22B-02-21 |laiika M8

42 bont M8x16

43 bont M6x20

44 |[KCM22B-02-22 |XomyT

45 Malika

46 |[KCM22B-02-16 |LLKkus

47 BuHT M8x8

48 |5M710-15 PemeHb 5M710-15
49 LLnoHKa 4.7x4.7x45
50 [KCM22B-02-17 |lLUKkus

51 bont M6x15

52 |KC26-22 [lep»kaTenb TPOCKKA
53 Malika

54 |KC55-02-21 Ponuk

55 |KCM22B-02-18B [KpoHwTeiH

56 Bont M8x30

57 [KCM22B-02-19 |[py»KunHa

58 bont M8x35

59 laka

60 Lsuratens H200

R [R|IR|RP|[RPR|IRP[RP|IR[RP|R[RP|R|RP|R|RP|[RPR|RPR[RP|R[RP|R|[O| R R|N]|W|~

CHeroy6opLuk

Moaenb

ST6563

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 4




Ne ApTUKYn HanmeHoBaHue Kon
1 Bont M10x25 1
2 LWanba 1
3 |[KCM24-01-22 LWkume 1
4 LnoHKa 6x6x14 1
5 Maiika M8 22
6 |KCM24-02C-23 |Kopnyc noAwunHuKa 1
7 |KC55-02-21A Ponnk 1
8 |[KC55-02-20 LWaiba 1
9 [90-0419 MoawnnHmk 6004 1
10 |KCM22B-01-1 KpoHLwTenH 1
11 bont M8x30 1
12 [KC55-01-21 Lep»Katenb 1onaTkm 1
13 BuHT ST4.2%x9.5-F 2
14 |KCM24-01B-03 |deka 1
15 Bont M8x25 6
16 bont M8x16 10
17 |KC26-01-02 MNMono3sok 2
18 LLanba 8
20 |KCM24-01C-06 |KpblabyaTKa 1
21 bont M6x35 2
22 laiika M6 2
23 |KCM22B-01-4 LLlecTepHAa yepBAYHan 1
24 |KC55-01-16 BTynka 1
25 |KCD24-01-07-01 |Kopnyc peayKktopa 1
26 Bont M6x20 5
27 |KCD24-01-07-05 |[poknaaka 1
28 |KCD24-01-02 BTynka onopHas 2
29 |KCD24-01-01 Lainba 8
30 |KCM24-01-08C |LLHek nesbii 2
31 [KCM22B-01-6A |[Ban wHeKos 1
32 [KC21-01-03 bonT cpesHoM 4
Moaenb
CHeroy6opLuk ST6563

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 5




Ne ApTUKYn HanmeHoBaHue Kon
33 [KC55-29 WnanHT 4
34 |KC55-01-06 BTynka 8
35 LUnoHKa 6x6x18 1
36 Konbuo ynnoTHUTENbHOE 2
37 |[KCM22B-01-05A [Kopnyc 2
38 KonbLo ctonopHoe 2
39 |KCM24-01-13C |lUHek npaBbii 2
40 |[KCD24-01-05 LWaiba 2
41 |KCM22B-01-11 |Waiba 2
42 |KCD24-01-07-02 |WecTepHAa peayKtopa 1
43 |KC55-01-09A BTynka 2
44 |KCD24-01-07-07 |Kopnyc pegykTopa 1
45 |[KCD24-01-07-08 |WTyuep 1
46 |KCD24-01-07-06 |LLanba 1
47 |KCM22B-01-07A |Ban peayKktopa 1
48 WrnoT 1
49 LWnoHKka 1
50 |[KCD24-01-07-04 |KonbLo cTonopHoe 1
51 |KC55-01-19 BTynka 1
52 KonbLo ynaoTHUTeNbHaA 1
53 |KCM22B-01-8 BTynka 1
54 |[KCM22A-01-03 |MnactnHa geku 1
55 bont M8x20 4
56 Maika 4
57 |KCM24-01C-07 |OcHoBaHwue gednekTopa 1

CHeroy6opLuk

Moaenb

ST6563

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 6




Ne ApTUKYn HanmeHoBaHue Kon
1 |KCW-03 Kpbiwka

2 |KC55-26 LWalba

3 |KMC24-19 PeweTKa 3awWwmTHaA
4 |KC21-23 LWalba

5 |KCD24-09A-01A |OednekTop

6 |KC30A-05-4 Tpocuk

7 |KC30A-05-3 Tara

8 |KC30A-05-2 Mpy*KnHa

9 |KCD24-12 MnactnHa

10 bont M8x40

11 |[KCD26-06-1 CroiKa

12 lanKa

13 |[KCD26-06-2 MpyXunHa

14 |KCD26-06-3 LWaiba

15 |[KCD26-06-4 LWaliba

16 |KCD26-06-5 MnactuHa

17 |KCD26-06-6

MnacTtvHa 3ybyatas

18 [KCD26-06-7 LecTepHa
19 [KCD26-06-8 Lanba
20 |[KCD26-06-9 BTynka
21 |[KCD26-06-10 KpoHLwTenH

22 |KCM24D-6-5

Konbuo CTONOpHOe

23 |[KCD26-06-13

WnanHT

RlR[R|RIW|N|[R|IR|[RP|R|R|R|R[R|R[N|IN R R RN PR RP[RP|RR|R[R]|N

24 |KCD24-09A-02  |Pydka
25 |KCD26-05 PykoATka
26 bont M6x12
27 Bont M10x60
28 |[KCD24-09A-03  |KoxKyx
29 |KCD24-05-03 Kosbipek
30 |KCD24-05-02 Metna
Moaenb
CHeroybopLymk
yoopt ST6563

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 7




